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61.

Buna-S can be represented as :

(|:6H5
M fen,-cn=c-cn=cn-cuj,
CeHs
®) |
fCH=CH- CH=CH-CH-CH,};
?6H5
&) ~[-CH,~CH=CH-cH=C- cH, 3
CeHs
) '
fCH,~ CH=CH-CH,- CH-CH.};
F1-S B 6 fosar 51w @
(|36Hs
M fen,-cn=c-cn=cn-cuj,
CeHs
®) |
JCH=CH-CH=CH-CH-CH,J;
CeHs
3) ~[-cH,~CH=CH-CH-C-CH,},
Cetls

) fCH,~ CH=CH- CH,- CH- CH,;

Question ID: 7155054209

Ans.

Sol.

62.

4

Starene + butadiene

@CHZCH2+CHZ=CH—CH=CH2

fCH,~CH-CH,-CH=CH-CH,§

b
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : 3.1500g of hydrated oxalic acid dissolved in water to make 250.0 mL solution vill result in 0.1
M oxalic acid solution.

Reason R : Molar mass of hydrated oxalic acid is 126 is mol™!
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In the light of the above statements, choose the correct answer from the options given below.

(1) Both A and R are ture and R is the correct explanation of A
(2) Aistrue but R is false
(3) Both A and R are true but R is NOT the correct explanatio of A
(4)Aiafalse but Ristrue
A 37 B 3T 7Y R, T DI AfMHUT A Ud SR B dROT R forar T ¥
AfBA A ¢ 3.1500g B8gcs (Sia Aifvra) sifaiferas st &t ofat # gtetaer 250.0 mL faea 0.1 M sifaiferas e
faera= ure gar |
®RUT R : EEgcs Mo e &1 Aia gagd 126 gmol ' g |
Sugad wort & wed § A R e et § § 9l o g
(1) Awd R 3l &1 2 T R, A @ 981 St &l 2 |
(2)A¥wE & g R 7Tera
(3) ATd R SIHf &) & @ R, A &) |81 rar F&l deell 2 |
(4)A 7ed & i R &8l &
Question ID:7155054211
Ans. 1

Sol.  Assertion s correct.
H,C,0,2H,0
3.15%1000
126 x250

126
126

0.1

Reason is correct. It is used as a fact in explanation of assertion.
63.  Thecorrect order of the number of unpaired electrons in the given complexes is
A. [Fe(CN), >
B. [FeF >
C.[Co F ]~
D. [Cr(oxalate),]*
E.[Ni(CO),]
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Choose the correct answer from the options given below :

(H)E<A<D<C<B
(2)A<E<D<C<B
(3)E<A<B<D<C
(4)A<E<C<B<D

fag 7Y Hegall # SRYfAT Selagial @ HEaT B HEl B §

A. [Fe(CN), >

B. [FeF ]
C.[Co F ]~
D. [Cr(oxalate),]*
E.[Ni(CO),]
W Ry g fadedt # & 9 SR g
(DE<A<D<C<B
(2)A<E<D<C<B
(B)E<A<B<D<C
4A<E<C<B<D

Question ID:7155054200

Ans. 1

Sol.  (A)Fe? SFL
3d° Pairing

h=

(B) Fe* WFL
3d° h=35
no pairing
(C) Co™ 3d°
no pairing h=4
(D) Cr*? 3d?
h=3
(E)h=0
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64.  The correct relationships between unit cell edge length 'a’ and radius of sphere 'r' for face-centred and body-
centred cubic structures respectively are :
(Dr =22a and \3r =4a
(2) 2/2r =aand4r= /33
(3)r=19.2q and 4r= f33
(4) 2/2r =aand \[3r =4a
BeId Diad BRI U 3ich: Bivad g-1g gl & U A Uhd DISHl & BR &I oS 'a' v el a1 B 'r'
S WY e W §
(1)r=2+2a @ \3r =4a
(2) 24/2r =aTaTdr= 33
(3)r=22a TA4r= /33
(4) 2/2r =a@erm [3r =4a

Question ID:7155054193

Ans. 2

Sol. FCC BCC
4r=a\2 4r=af3

65.  The correct order for acidity of the following hydroxyl compound is :
A.CH,OH

B. (CH,), COH

c. (o )—on

D. MeO@OH
E. QN@OH

Choose the correct answer from the options given below :
(HE>C>D>A>B
2)C>E>D>B>A
B3)D>E>C>A>B
4HE>D>C>B>A
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65.

for 1 gSiwl AT®l & foIy Irerdr &1 |8l BH &
A.CH,0H
B. (CH,), COH

C. @—OH
D. Meo—(0 y—on
£ ox—()-on

A 3T I § | AE BT AT BN —
(DE>C>D>A>B
(2)C>E>D>B>A
(3)D>E>C>A>B
(4HE>D>C>B>A

Question ID:7155054207

Ans.

Sol.

66.

1
Acidic strength  x stability of conjugate base
ACH, 1,0 x -M,-I

CH,

I
o
HC—C—0

B I

CH,

C @—Oe Reso
+M

The delicate balance of CO, and O, is NOT disturbed by
(1) Burning of Coal
(2) Deforestation

(3) Burning of petroleum
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(4) Respiration
CO, wd O, BT Aofd AT JIfad &l BIa & -
(1) PRI BT A A
(2) a1 BT BT |
(3) UgIferad &l ST ¥
(4) TadT
Question ID:7155054202
Ans. 4

Sol.  Respiration, is a natural process, So balance of CO, and O, not disturbed by respiration.

67.  Number of water molecules in washing soda and soda ash respectively are :
(1)Tand 10 (2)10and 0 (3)10and 1 (4)1and 0
eI |IST U4 |IeT U 3§ §d & 3AVRAT Bl HAT 2, PHATT:
(1)1va10 (2)10Ta0 (3)10vd 1 4)1vd0
Question ID:7155054198
Ans. 2
Sol.  Washing soda Na, CO, 10 H,O
Soda ash Na,CO,
68.  Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Asseertion A : Physical properties of isotopes of hydrogen are different.
Reason R : mass difference between isotopes of hydrogen is very large.
In the light of the above statements, choose the correct answer from the options given below:

(1)Ais false but R is ture

(2) Both A and R are true and R is the correct explanation of A

(3) Aistrue but R is false

(4) Both Aand R are true but R is NOT the correct explanation of A

A <1 weF fRU Y 7, Th DI AMHAT A Td TE BT HRUT R &l T 2|
AT A : SO & TR & Afad 107 =1 B 2|

PRUIR : BRSO & RG] & G H 3R 984 3MOF © |

S el @ T H, e v T fwedt # 4 e IR g
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(1) AT & R R W8T 7 |

(2) ATG R ST 981 & T A &7 98] &IRAT R 2 |
(3)AHE 8 g R 7Tl & |

(4) ATd R Gl 981 € T2 A @) W8l @IeT R 781 7 |

Question ID:7155054197

Ans.

Sol.
69.

2
Different physical properties are due to different

The decreasing order of hydride affinity for following carbocationsis :

+
CH, = CH - € - CH
' CH,

_|_
CeHs - CI — CeHs
' CH,

B

+
HC-C-CH,
' CH,

C

+
p P—¢<

A

Choose the correct answer from the options given below :
(1)C,A,B,D (2)D,A,D,B 3)A,C,B,D
=T PIEREl & 1Y BT9SISS UWIFET &I Tedl 34 © :
+
CH,=CH - C - CH;
A. I
CH,

_|_
CeHs - CI — CHs
’ CH,

B

+
HC-C-CH,
' CH,

C

+
D. D—iﬂ
A fau Y fadedl § | wEl 9T g ¢
()C,A,B,D (2)D,A,D,B (3)A,C,B,D

Question ID:7155054204

“4A,C,D,B

“4A,C,D,B
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Ans.

Sol.

70.

1

(A)Reso +62X

(B) 2 Reso + 32X

(©)92X

(D) dancing Reso

Ferric chloride is applied to stop bleeding because -

(1) Fe** ions coagulate blood which is a negatively charged sol.

(2) CI" ions cause coagulation of blood

(3) Blood absorbs FeCl, and forms a comples

(4) FeCl, reacts with the constituents of blood which is a positively charged sol.
RE EG P & [ BREb FARISS BT JANT a1 Srr 2 a2l
(1) Fe’** ad, St U oI it 8, BT ¥had Bl & |

(2) CI~ 3T e T ¥ehaeT xal & |

(3) e FeCl, T 3aeNfdie ) U Hepel bl AHi0r el 2 |

(4) FeCl, ad Sl Vs B-dRId ¥icl &, & 3/agdl & w7l f2har vl & |

Question ID:7155054194

Ans.

Sol.
71.

1
blood is negatively charged colloidal so Fe* congulates

Gibbs energy vs T plot for the formation of oxides is given below:

—100

—200

-300 4

—400 -0,

AG® of 0,—>

(kJ / mol) —500 -

—600

8001 L L L L L L

° 1 1 1 1 1 1
0 C200° 400° 600° 800°1000°1200°1400°
T —>
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For the given diagram, the correct statement is -
(1) At 600 °C, C can reduce ZnO

(2) At 600 °C, CO can reduce ZnO

(3) At 600 °C, CO cannot reduce FeO

(4) At 600 °C, C can reduce FeO

sifavarge @ fmfor 2 frest So1f vs T T oo <r fam i 2 -

—100+

T 200

o

O —300+

o
o

& —400 -
<
(kJ / mol) —500 4

—600

-800+

CO,

° 1
O°C200° 400° 600° 800°1000°1200°1400°

T —>

I fau v fom 2, |8 HUF ®

(1) 600 °C R, C ZnO BT JATARIT B FHT & |
(2) 600 °C W, CO ZnO &' afdd o AT 2 |
(3) 600 °C W, CO FeO &7 AT &R AT ? |
(4) 600 °C W, C FeO ®T Mafid &) FdhdT & |

Question ID:7155054196
Ans. 4

Sol.  at 600°C AG for oxidation of C is more —ve than oxidation of Fe So C can reduce FeO

72.  Inthereaction given below:

O

Il .
H,NC (1) LiAIH, 5
\H\r/\ im0
O
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The product 'X'is :
OH

%

(1) H,N T

%

2) H,N
2 H, O

o
T

%

(3) H,N T

if

4) H,N
(4) H, u

RIEECURIEECIRIE DI I

o)
[ o
H,NC (1) LiAIH, 5

(i) H;0"

:

Jare 'X'2
OH

%

D N T

%

2) H,N
(2) H, u

o
T

%

(3) H,N T

if

4) H,N
(4) H, u

Question ID:7155054208
Ans. 2
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O
HZN)‘\)‘\H/\ (i) LiAlH,
0) (il) H,O
Sol.
HZNW
OH
73.  InCarius tube, an organic compound 'X' is treated with sodium peroxide to form a mineral acid "Y".
The solution of BaCl, is added to 'Y" to form a precipitate 'Z'. 'Z' is used for the quantitative estimation of an
extra element. X' could be
(1) Chloroxylenol (2) Anucleotide (3) Methionine (4) Cytosine
SR AfeTp! # U BrdfTa A1l X' BT AIfeyd WidaTgs & A SYAING BRl IR Ub Wiof 30 'Y' U1
BT 8 1 'Y' 3 BaCl, &7 fderae Mefr W Ues 37aard 'Z! @il & | 'Z' &1 SUART AR ded & AAID 3Meber
# BT 8 | X' 8 A ®
(1) FirRTgferdar (2) U =afdefeiicss  (3) Hemsanf (4) AZSRAA
Question ID:7155054203
Ans. 3

Sol. X _ N0, JY _ Bk, 7 BaSO,

S is present in PPt so methionine is correct H,N— CH —COOH
|

(|CH2 )2
S—CH,
74.  The correct order of metallic character is =
(1)Be>Ca>K (2) K>Ca>Be (3)Ca>K>Be (4)K>Be>Ca
|fcad 0T PT Al B B
(I)Be>Ca>K (2) K> Ca>Be (3)Ca>K>Be (4)K>Be>Ca
Question ID:7155054195
Ans. 2
Sol.  IE T metallic character ¥
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75.  Incorrect method of preparation for alcohols from the following as :

(1) Reaction of Ketone with RMgBr followed by hydrolysis.
(2) Hydroboration-oxidation of alkene.

(3) Reaction of alkyl halide with aqueous NaOH

(4) Ozonolysis of alkene

=1 # A B Vepielal & fFior o e ey 8?

(1) @I &I RMgBr & |1 fshal IguRI=T 5ol 3qeeH

(2) QeI BT BIgIaR-—iTaRiTHRoT

(3) Ve gallgs @I Sieidl NaOH @ drer fopan

(4) Tebi a1 SRR
Question ID:7155054206
Ans. 4
R
Sol. Y +R® —— e e e\ OH
o) (i) O OoH
/\/+ NOOH /\/OH

0, /2H/H,0

X —27%> CH, - CHO + HCHO
76.  Match List I with ListII

LISTI LISTII

Complex Crystal Field Splitting energy (A,)
A.[Ti(H,0),J** [.-1.2

B.[V(H,0),]* II. -0.6

C. [Mn(H,0) ]’ II. 0

D. [Fe(H,0) ]’ IV.-0.8

Choose the correct answer from the options given below:
(1) A-11, B-1V, C-1, D-1II

(2) A-IL, B-1V, C-I, D-1

(3) A-1V, B-1, C-I, D-II

(4) A-1V, B-1, C-1, D-III
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A 1 e gt 1 3

T 1 T 11

Aqd fovcer &= faured swif (A)
A.[Ti(H,0),]** L-1.2

B. [V(H,0) > 1. -0.6

C. [Mn(H,0),J** 1L 0

D. [Fe(H,0),]* V. -0.8

A faw T el 4 9 981 SR g -

(1) A-1I, B-1V, C-1, D-III
(2) A-11, B-1V, C-I, D-1
(3) A-1V, B-1, C-I, D-II
4) A-1V, B-1, C-I, D-II

Question ID:7155054201
Ans. 4
Sol. Ti?3d*tg=2-04x2+0.6x0

77.

V23 tg=3-04%x3+0.6x0

eq=0=-1.2A0
Mn"3d*t g=3 [04x3+0.6x1]
eg=1

Fe” 3d’t,g=3
eg=2
—04x3+0.6x2
=0

The major product 'P' formed in the given reaction is:

CH;0O Cl
O/\/\( aIllhi/ ( cp" |
ON AICl;  (major
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CH,

CH;0

CH,O
)

&

(I) ON

CH,

e
i

CH;O NO,

i

3
) oN OCH.

CH;

e
=

CH,O

4)
O,N CH,

fav 7o arfaforar g S P | -
Cl
anhy p’

é X
AICI; (major)

CH;O

2
ziz

CH,

CH;O
CH;O
M @N@ @)

CH;O

“4)
OZN CH3

Question ID:7155054205
Ans. 1

Sol.  Triedal cratt rxn formed carbocation will attack on more electron density site that is para position of ome group
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78.

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The energy required to form Mg?" from Mg is much higher than that required to produce Mg*

Reason R : Mg* is small ion and carry more charge than Mg"

In the light of the above statements, choose the correct answer from the options given below.

(1)Aistrue but R is false

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Both A and R are true and R is the correct explanation of A

(4) Ais false but Ris true

A 31w U T 7, Th Bl AMHAT A Td TER BT HRUT R &7 T 2 |
AMBAT A : Mg ¥ Mg> g9 # 3naeaids Ioif, Mg 9999 @l g1 H, STl 1fda 2 |
BRUTR : Mg?* B3I AR & ST Mg" ¥ 31 37Maer @] & |

DUl B UHrT H, 7 Ry MU fAdmedl # W AEl SR g+ ¢

(1) A¥E € g R T & |

(2) ATd R ST 98T € T A &1 W8l IR R 87 7 |

(3)ATd R SHI W&l € a1 A @) W&l ARATR B |

(4) AT € W] R W 7 |

Question ID:7155054199

Ans.

Sol.
79.

3

Successive IE always increases

The reaction used for preparation of soap from fat is :
(1) alkaline hydrolysis reaction

(2) an oxidation reaction

(3) an addition reaction

(4) reduction reaction

AT W Ag &1 o7 arfafear v
(1) &R STeAe 3ffHihar

(2) 3ATeRATBRoT AfAfhaT

(3) ArTcHe 3rfafdear

(4) 39T ITHfhaT
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Question ID:7155054210
Ans. 1

Saponification
Sol.

= alkaline hydrolysis of ester
80.  Match List I with List I

LISTI

A.16gof CH, (g)

B.1gofH, (g)

C. 1 moleof N, (g)

D. 0.5 mol of SO, (g)

LISTIT

I. Weighs 28¢

II. 60.2 x 10% electrons

I1I. Weighs 32¢g

IV. Occupies 11.4 L volume at STP

Choose the correct answer from the options given below:

(1) A-I1, B-II1, C-1V, D-I
(2) A-IL, B-IV, C-III, D-I
(3) A-1, B-11I, C-I1, D-IV
(4) A-11, B-1V, C-I, D-11I
A 1 &1 s g | e
A I

A.CH, (2) @ 16g

B.H, ()% 1g

C.N, (2) @ 1 et

D. SO, (g) 0.5 A

I fau v fAwedt # & w8 SR g+ -

(1) A-11, B-III, C-1V, D-1
(2) A-11, B-1V, C-III, D-1
(3) A-1L, B-I11, C-II, D-IV
(4) A-11, B-1V, C-1, D-III

Question ID:7155054192

Ans. 4

Sol.  (A)CH,— 1mole

@ 11

I. 28g ¥R

1L 60.2 x 10* geraetT
111 32g ¥R

IV.STP W 11.4 L 3fraa+
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e — 10 mole

number 60.2 x 10%

1
(B)mole H,= 5

1
volume = 5 22.8 =11.35lite
(C) 1 mole N, =28 gram

1
(D) SO, = EX 64 =32gram

81.  The specific conductance of 0.0025 M acetic acid is 5 x 105 S cm ™ at a certain temperature. The dissociation
constant fo acetic acid is x 107,
(Nearest integer)

Consider limiting molar conductivity of CH,COOH as 400 S cm* mol ™!
d U MU AUEE WA 0.0025 M URIfed o @) araddbdi 5 x 10° S em ! 8 1 VHifed ol @1 faiior

Rerip x 107 (Mdeaq quiia )
CH,COOH @ ¥¥id e =retehell 1400 S em? mol ! AT
Question ID:7155054217
Ans. 66
Sol  Am= Kx1000
m

5x107°x10°
m — et
0.0025

=20.5 cm”* mole !
82.  Thenumber of endothermic process/es from the following is
AL (g)—>2I(g)
B.HCI(g) > H(g) + Cl(g)
C.HO0)—-HO(g)
D. C(s) + O, — CO, (g)

E. Dissolution of ammonium chloride in water
e & & SR ufshar /af @ Hen 2
AL (g)—>2I(g)
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B. HCl (g) - H (g) + Cl(g)

C.H,0 (1) > H,0(2)

D. C(s)+ 0, - CO, (2)

E. 3MIFIH dARIgS Bl STl H geTel

Question ID:7155054214

Ans. 4

Sol.  Atomization (endothermic) & = — = 20
ol. tomization (endothermic Am” 200

C 2
Atomization (endothermic) Ka = 1 X —66x107

Vapourization (endothermic)
Combustion (exothermic)

endothermic

83.  A(g) =2B(g)+C(g)

For the given reaction, if the initial pressure is 450 mm Hg and the pressure at time t is 270 mm Hg at a constant
temperature T and constant volume V. The fraction of A(g) decomposed under these conditions is x x 107!,

The value of x is (nearest integer)

A(g) =2B(g)+ C(g)
ey u arfAfehan & forg, A URf® <@ 450 mm Hg 2 @2 999 t 9= ReR a99 T ud ReR Jgdq V iR

39 720 mm Hg 8 | Sugaa semell # faafed A(g) @13 x x 107 81 x & AF 2 | (Mdwean
qiis )

Question ID:7155054216

Ans. 3

Sol.  A(g) =——=>2B(g)+C(g)
t=0 450
t 450-P 2P P
P =P, +P,+P,
720 =450-P+2P + P
P =135
Fraction at A decomposed
135 _
450

0.3
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84.

Ans.

Sol.

85.

x =3

An aqueous solution of volume 300 cm’ contains 0.63 g of protein. The osmotic pressure of the solution at 300

K is 1.29 mbar. The molar mass of the protein is gmol™!

Given : R=0.083 L bar K- mol™!

STl faeras & 300 cm? AT # 0.63 g Wi SuRerd 2 1300 K R faera &1 tRRvT g9 1.29 mbar 2 |

YIS BT Ao GIHH

gmol 7|

f&am 3 % : R=0.083 L bar K-' mol™!
Question ID:7155054215

40535

p=CRT
n

p= ;RT

m RT

v mwt
0.63x0.083x300

p:

MW= 505107 x300x10°

=40535 gm/mol !

1.47x107"]

n+1

n

The electron is the n orbit of Li*" is excited to (n + 1) orbit using the radiation of energy 1.47x107"7 J (as

shown in the diagram). The value of nis

Given:R =2.18x1 0'3J

1.47x107"]

n+1

n

Li% & n @wetm % SuRera gelagid dl 1.47x107"7 ] IS arelt fafesor & SUAT A (n+ 1) dear # Safora fasan
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ST 8 (Shar fo # fevaman 1 8) n @1 A '
feam T &1 R, =2.18x1018J

Question ID:7155054212
Ans. 1
1 1
Sol. AE=R 7 [n—f—g}
1 1
147%x 107 =2.18x 10"¥x 9 [F—m}
n=1
86.  Inalkaline medium, the reduction of permanganate anion involves a gain of electrons.
TR ATH ¥, RIEC RO & 39 & N goldeid 9T fhu St 2 |
Question ID:7155054221
Ans. 3
+7 — - > +4
Sol.  kMno, ¢80, Mno,
in neulral medium or mild alkaline medium
87.  The number of molecules from the following which contain only two lone pair of electrons is
H O, N,, CO, XeF,, NH,, NO, CO,, I,
T 3 9§ 3 3rupi @l e RO golagHl @ dad & Uhd I SURed § ¢
H,0, N,, CO, XeF,, NH,, NO, CO,, F,
Question ID:7155054213
Ans. 4
Sol. H,O0—20p
Co — 20p
N, = 2(p
NO — 2/0p
88.  For ametal ion, the calculated magnetic moment is 4.90 BM. This metal ion has number of
unpaired electrons.

B a1 oM & forg, uRasfora graaia Jmept 4.90 BM 2 | 39 o1 MR # ST Seldgivl &l |l 8
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Question ID:7155054220
Ans. 4

Sol.  p=/n(n+2)

n=4

89.  The number of incorrect statement/s from the following is

A. The successive half lives of zero order reactions decreases with time.
B. A substance appearing as reactant in the chemical equation may not affect the rate of reaction
C. Order and molecularity of a chemical reaction can be a fractional nubmer
D. The rate constant units of zero and second order reaction are mol L' s! and mol™! Ls! respectively
o & 9 oI dUH /A1 B ST R
A. IR BIfC BT AMFRAT & oY ITRRIR 31 MY BIeT AHY & A1 Hedl o |
B. e @R # favge arelr arfiavor ifiifhar @1 <% @l ywifad T8l SR Hahdl @ |
C. fpelt wramifiies Srfifear & SIS Td TeETOdT gl B e ¥ |
D. Y DIfe T fgiia Pife @i r¥fshar &1 a1 Rerie Haermol L' s tamol ' Ls ! & |
Question ID:7155054218
Ans. 1

Ao
Sol.  (A)ty,= K

Ao 4 ty2¢
(B) It order wont reactant is zero it wont effect
(C) Molecularity can't be frachonal

(D) correct

90.  Thedifference in the oxidation state of Xe between the oxidised product of Xe formed on complete hydrolysis

of XeF, and XeF, is

XeF, @ Yol Sfel 3qued W UTa 3ifariipe Sc1e Td Xe @ 3iferiiebror HRemadl &1 3R
Question ID:7155054219
Ans. 2
Sol.  +4 +6

XeF, +h,0 — XeO, + Xe + HF + O,
difference=6—-4=2
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